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DIRECTIONS
Do not open this booklet until you are told to do so.

This is a test of your competence in high school algebra. For each
problem there are listed 5 possible answers. You are to work the problems,
determine the correct answer, and indicate your choice by making a heavy
black mark in “he correct place on the separate answer sheet provided. A
sample follows:

1, If 2x = 3, then x equals: 1 2 3 L g
i @3 O ¢
1.
(L) g (5) none of these

The correct answer for the sample problem 1s 2 , which is answer (4};
50 you would answer this problem by making a heavy black mark under space L
as indicated above.

If you should change your mind about an answer, be sure to erass com-
pletely. Avoid wild guessing, as wrong answers count against you. Do not
mark more than one answer for any problem. lhake no stray marks of any kind
on your answer sheetb.

When told o do so, open your test bocklet to page 2 and begin. When
you have finished one page, go on to the next. The working time for the
entire test is 80 minutes.



. When (0.000016)% is divided by h00,000, the value is
@) 107 (@10 3) oW L (3) 1078
. x6 ~ 6l is factored completely into real factors ass
1) & +8) (x° - 8) |
(2) (2 +8) (x-2) (2 + 2¢ + 1)

(3) (x+2) (x-2) (=% +2x+1) (52 - ox+ 1)
(W) (=7~ 8) (x+2) (=2 - 2x + 1)

(8) none of these.
2

+ The complete factorization of a° - 2ab + b2 - 32 -2Xy -~y is
(1) (a-5)? (x + y)?

(2) (a+b-x+y) (a+b-x-y)

(3) @a-b+x+y) (a=bwx-y)

) (a-b-x+y) (a+Db-x+y)

(5) none of these.
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E| 2
« Determine the value of (16) L + Sxo - (-8) 3, where x # O.
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. Aﬁqther form of is:

2 2
(1) . (y + 2x )
x2(3y2 . x)2

1

2
(2),_§§_“:~I§_
xh + 2y

-3 -
(3) L
x "+ 2y "? '

| 0
(h) E=T
x + 2y

(5) none of these.



6.

70

B

9.

The muierator of a fraction is 5 less than the denominator. If the
numerator is increased by 1 and the denominator by 6, the value of the
fraction is wnchanged. The fraction is:

Wi o@F oL W © .

2
I LK)
T - 4
When simplified .
r - 2%
r2 - t2

(1) (r+26)° (r+ %)

(2) (r -2t) (» + 1)
. 3

(3) Eriel

() (r* %)

(5) (r -t} (r + 2t).

The quantity H varies jointly as m and t and inversely as d. This
statement expressed as an equation would be:

- kim + 4
(L) H 3

. lanb
(2) H= T
(3) H=mtd
. kd
(L) ===

(5) none of these.

The equation \|x - 2 = x - L4 has
(1) two roots.

(2) one root.

(3) no roots.

(L) three roots,

(5) none of these.



21, The intercepts of the graph of hxz + 9y2 = 36 are:

22,

23.

2L.

(1) (3:2)3 ("33 “2)-

(2) (O: 2): (O, "2): (O: 3)3 (OJ "3)0

(3) (2: "2): (3: "3)-

(‘1-!-) (OJ 2): (0: '2), (3: O)) (""-3) O)-

(5) (3: "'2): ("‘39 2)'

If £(x} = (1 ~ x) (1 + x)x for any real number x, then r
(L} the domain of x is all positive real numbers.
(2) the range is all positive real numbers.
(3) the range is all real numbers.
(1) the range. is all negative mumbers.
(5) the range is all real numbers except, 1, 0, -1.
If f:x-mﬁpﬁfé}%-, with the necessary restrictions on the domain and range,
then:

-1, (2x - 1) -
(l) £ .x--b(_x s 1)
(2) £lix

X

L x + 2
(3) T -.&-—u@{-ﬁ—l-g-

-1, (x - 1)
()-l) f .Xu--}m
(5) none of these.
The value of k in the equation x° - lkx + 3= 0, such that he sum of )
the roots is two-thirds of the product of the rools is: / \\

(L) 6 (2) 2 (3) 6or-2 (4)~2 (5 2oro, C



25,

26.

27+

28.

-29.

3,0.

Which of the following relations is a function?

@ fen ] x =52}

@) feoy) | £y

(3) {Gy) | = 5]

W) feoy | == 5}

G ICROY PP

If £(x) = a™, where a and x are real numbers, then f(x + 2) - £(x) equals
(1) a° (2) 2a (3) 20(x) (W) (a° - 1)£(x) (5) rnone of these.

The solution of the eguation 10g3;c2 + logB(x/ ’? =0 is

W 3 @ wef) > ow o .

How many cubic centimeters of a LO% solution of sulfuric acid must be

added to 10Ccc of a 20% solution % obtain a 30% solubtion of the acid?

(1) 10 (2) 50 (3) Lo (b)) 150 (5) 100,

4, B and C working together can do a piece of work in 6ne day, A and C
together in 173 days, and B and ¢ together in 2 days. How many days would
each of them require to do the work alone?

(1) A in 3 days, B in 2 days, C in & days.

(2} A in 3 days, B in 6 days, C in 2‘days.

(3) 4in 2 days, B in 3 days, C in 6 days.

() A in 6 days, B in 3 days, C in 2 days.

(5) None of these.

The graph of x2 - y2 = 7 is

(1) a circle.

(2) an ellipse.

(3) a line.

(L) a parabola.

(5) a nyperbola.
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LO. Let S be the set of positive integers and have defined on it the usual
operations of addibvion and multiplication., Which of the following pairs
of properties hold true on S?

(1) BEristence of additive identity element and associativity for
mltiplication.

(2) Associativiity for multiplication and addition.

(3) FExistence of multiplicative identity element and mulitiplicative
inverses.

() Distribubive law and existence of additive identity element.

(5) Commtativity for subtraction and division.



